S 4 S | 6 | 7 | 8

il
sl

39.5

il

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE LJH 08/13/05’ % LJC 08/13/05
B A1 ] YCH 09/13/07° .
NOTES:
1. PART NUMBER CODE:
: DS1051 — 09 X X
| L Packing type
1: Mix packing
;/J E 9 BOM LIST 2: Separation packing
D ITEM | PART NAME Qty NOTES Cover Material
1 PLASTIC HOOD—1| 1 ABS C: Chromium plating
3 2 PLASTIC HOOD—1| 1 ABS L Position
. 3 WASHER 2 M3 09: 9pin
E E IR T 4 BOLT 2 #4-40
i ‘ ‘ 5 NUT 2 M3
\ 57 6 SHORT SCREW 2 M3
7 LONG SCREW 2 M3
3 5 M3

M3 @, g
O
O
3 e 50 | " | _|] 20

2.8
0.7

39.5
36.5

15.7 | 6.3

Nl

GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @—G TITLE D—SUB 9pin Hood Chromium Plated
. X, +0.60 X, 45 UNITS mm Large Angled Cable Outlet

X £0.38 X 13 SHEET SIZE A4 SERIES |DS1051 SERIES

XX £0.25 XX 12

Z(}'\:’QVLV;NG TYPE |COSTOMER @ }% 35]}] EE ? ﬁ IKE Q} a

1:1 |SHEET [1 OF 1
DRAWING NO. | C—DS1051—09XX connFLy CONNFLY ELECTRONIC CO. LTD

3 4 | 5 6 I 7 I 8



Administrator
CONNFLY

Administrator
GSDZ


1 4 5 | 6 I 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
4574544 A NEW RELEASE LJH 10/26,/05’ ~ LJC 10/26/05’
1 ' B 4405 ] YCH 09/13/07" ~
1 { —
\V
L |
|
| NOTES:
— 1. PART NUMBER CODE:
! DS1051 — 25 X X
Packing type
BOM LIST 1: Mix packing
2: Separation packing
ITEM | PART NAME Q'ty NOTES Cover Material
@ @ g o 1 PLASTIC HOOD—1| 1 ABS C: Chromium plating
< o _ Position
o 2 PLASTIC HOOD-1| 1 ABS 25:‘2‘5pm
3 WASHER 2 M3
’ 4 BOLT 2 #4—40
5 NUT 2 M3
6 SHORT SCREW 2 M3
\_U ; J < 7 LONG SCREW 2 M3
[
40.8
54.8
47.04 5 M3
T (0 N B
| so | T 20
| @ ERE
| ‘ 26.0
— 6
| NS 5
] e : 6.9 ¢
Eadi =4
© @
o 9
< O
L)
[ 4 4-40 UNC 7 14.8 @‘JQ
i &
15.7 \ 6.3 M3
‘ 29.7
A Wi
p— J
[
40.8
GENERAL TOLERANCE| ANGLE TOLERANCE |[PROJECTION | @—£7 |[TITLE | D—SUB 25pin Hood Chromium plated
X, +0.60 X 45 UNITS mm Large Angled Cable Outlet
X  +0.38 s e SHEET SIZE A4 SERIES |DS1051 SERIES
XX £0.25 XX =2
DRAWING TYPE |[COSTOMER th( #]] EE % ﬁ‘ I}E j
SCALE 1:1 |SHEET [1 OF 1
DRAWING NO. | C—DS1051—25XX connFLY CONNFLY ELECTRONIC CO. LTD
1 4 | 5 6 I 7 I 8



Administrator
CONNFLY

Administrator
GSDZ


2 3 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE LJH 10/26/05 ~ LJC 10/26/05
B HEEL i YCH 09/13/07’ ~
0T 1]
63.5
69.3 NOTES:
1. PART NUMBER CODE:
29.8 9.70 DS1051 — 37 X X

51.10
46.20

29.8

51.10

12.05

9.70

46.20

L

Packing type

1: Mix packing

2: Separation packing
Cover Material

C: Chromium plating

BOM LIST Position

ITEM PART NAME Q'ty NOTES 37: 37pin
1 PLASTIC HOOD—-1 1 ABS

2 PLASTIC HOOD—-1 1 ABS

3 WASHER 2 M3

4 BOLT 2 #4-40

5 NUT 2 M3

6 SHORT SCREW 2 M3

7 LONG SCREW 2 M3

5 M3

4-40 UNC

12.05

GENERAL TOLERANCE| ANGLE TOLERANCE [PROJECTION | @—F [TTLE] _SuB 37pin Hood Chromium plated
X. +0.60 X. 45 UNITS mm Large Angled Cable Outlet
X +0.38 X +3 SHEET SIZE A4 SERIES [ DS1051 SERIES
XX +0.25 XX £2° Y

DRAWING TYPE |COSTOMER = ﬁ[}] Eﬁ ? ﬁ I}E /A.\ a

SCALE 1:1 |SHEET [1 OF 1

1 2 3 4 | 5 6 I 7 I 8



Administrator
CONNFLY

Administrator
GSDZ


